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1 SFEEmE 42 46 88 13.6 74.4
2 JLH FiE 41 46 87| 12.4 74.6
3 HLEFAR7- 44 48 92| 17.2 74.8
4 o2 EFIZE 51 47 98| 23.2 74.8
5 FHFHA 50 46 96 19.6 76.4
6 FLHIE 44 44 88 11.2 76.8
7 FRIEFRIT 49 49 98 20.8 77.2
8 HiA HER T 52 50 | 102 24.4 77.6
9 =RFRT 51 49 100 22.0 78.0
10 &SR 54 49 103 24.4 78.6
11 HHET 52 51 103 23.2 79.8
12 fhex RE1- 48 48 96 16.0 80.0
13 W HAR 53 59 | 112 31.6 80.4
14 faftiE 1 51 52 103 22.0 81.0
15 B =T 51 51 102 20.8 81.2
16 HHr Wt 53 48 101 19.6 81.4
17 [URES 56 54 110 28.0 82.0
18 'HmAGEE 41 54 95 12.4 82.6
19 HEL 1 47 56 103 19.6 83.4
20 Py & A 58 52 110 22.0 88.0
21 1R 7 64 58 122 31.6  90.4




